Sr Questions Answers Choice

. Carpels
. Eggs

. Sperm

. Stamens

1 Which is the following male reproductive part of a flower.

. Egg

. Sperm

. Neuron
. Zaygote

2 Male reproductive cell

. Zygote

. Endosperm
. Embryo

. Oveum

3 Fusion of a sperm with two polar nuclei forms.

. Sexual reproduction
. aseual reproduction
. Self pollination

. Cross pollination

4 Production of new plant from endergrond stem is an example of.
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A. Runners groth into new plant.
L . . B. Budding
5 Which is the example of natural vegatative propagarion. C. Grafting
D. Cutting
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. Pollen tube
. Stigma

. Style

. Stigma

6 The structure which is helpful to carry sperms to the ovary.

. Root

. Steam

. Flowers
. Leaf

7 The organ of a plant which takes part its sexual reproduction.

. Layering
. Budding
. Cutting

. Grafting

8 Asexual reprouction in whcih stem of a plant is buried in soil near the parent plant.

. Ebroyo sac
. Embryo

. Endosperm
. Ovule

9 Zygote develops into.

. Self pollination

. Cross pollination
C. Fertilization
D. Double fertiization

10 Zygote is formd as a result of.



